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ACTIVITY 3.6 Line Segments

‘When you join 2 points by a straight line you need one line. \
‘When you join 3 points (not on the same straight line)
you need 3 line segements.

The situation for 4 points becomes more complex if . .
each point has to be joined to every other point.
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1 Show that you need 6 line segments to join each point to every other point
when there are 4 non-collinear (not on same straight line) points.

S

Repeat this problem for n points when n =35,6,7 and 8.

3 Copy and complete the table below

No. of points | No. of lines
n L
2 1
3
4
5
6
7
8

Extension

1 Study the pattern. What is the formula which connects L and n?

2 ‘What do you predict is the value for L when n=10? Verify your result.
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